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2019 (1) (E1)
I A'is B’s sister. C is B'S mother. D is
@___ C’s father. E is D’s mother, then how is
Arelated to D ? '

(A) Daughter

P Granddaughter
(C) Grandmother
(D) Grandfather

2. What is PSLV stands for, \ivhich is one of

the/satellite launching vehicle of ISRO ?

ﬂ?ayload of Satellite LJunch Vehicle
(B) Polar Surface object Lélunch Vehicle
(C) Polar Satellite Launch Vehicle

(D) None of the above

1 1
3. IfA=(0 J, where neN then A" is

A) (1 0) (B) (1 0]
1 n n -1 ‘
I n 1 o)
)
f (O J - (n 1)

4. Manufacturing unit of Hero Honda
Motorcycle is located in which district of
Haryana 7 -

(A) Palwal

yim
Faridabad

(D) Rewari

5. In Python comments start witf;
symbol.

A S B) &
©) * M

6. The number of Municipal Corporation in
aryana was
Hdrym E): 11
) D) 9
(€ 8

g

H

| llllllllllllIllllIllllﬂlllllllllllllllllﬂllllll
1. AB&aEd cBRAAEID,CHMM,
E, DA ®, @ A, D& ¥d wafta 8 ?
(&) ¥4 :
(B) Wt
(C) @mwl
(D) '31377 1 | (!

B

2. PSLV 11 HaeT 3, S 73 ISRO & SWE

TG IR 7
(A) Payload of Satellite Launch Vehicle

(B) Polar Surface object Launch Vehicle
(C) Polar Satellite Launch Vehicle

(D) Iqlted § | I el

3. afd AE(:) :JaﬁneN,ﬁA" ?

) (1 0] (B) »(1 oJ
I n n -l h\
©) (1 “J (D) [1 OJ ‘
0 1 n 1 ;

4. RO i€ e HietHTehe] ST o1 Sl

fora i T2 ?

5. gmeA E, Fe___ Tk w yw e el

(A) $ (B) &
© * (D) #

6. gfemon i fohe R AT E 7

(A) 10 B) 11
(C) 8 D) 9
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- An ancient temple Bhadrakalj is s;
) rakali is sit )
- the district of Ituated in

(A Rewari

(C) Mewat

1
(1
A

(B) Ambala
(D) Kurukshetra

In .which sorting algorithm, every adjacent
pair 1s compared and swapped if they are
not in the right order ?

(A) Bubble Sort (B) Linear Sort
/. (C) Selection Sort (B} Insertion Sort

9. Which of the following Environmental
organization has launched the “clean seas”
campaign ?

(A) Ocean conservancy
_(BY” UN Environment
(C) Sea Web

(D) Blue ventures

10. First meter gauge commercial train ran on

which route ?

4&) Delhi — Rohatak
(B) Kurukshetra — Jeend
(C) Delhi- Rewari
(D) Delhi —Panipat

11. The city was founded by Firoz Shah Tughlaq
(A) Biwani ) Hisar
(C) Gurugram - (D) Panipat

12? VﬂfUCOf(px;@(px})x}+(ﬁx|‘z)x]2:.
(A) 3P B0 P

© 4p (D) -2p

13. Inacertain language, ‘sun shines brightly’
is written as hﬂlseg are brightly
lit' as ‘kado ula ari (63 _and ‘light comes

from sun’ as “‘dopi kup ro’, what code-
words are written for ‘sun’ and ‘brightly’ ?

\(}flo, ba (B) ba,lo

(C) ba, sul (D) sul, lo

b'ﬂ%kjl/? bo

[~

10.

11.

12.

13.

5/2019 (1) (E1)
T e Hiet e e R i fRm R
A) @ - (B) TN
(C), HaTd (D) Fwe
%ﬁaﬂﬂﬂm@ﬁﬁmﬁ,mmw
:ﬁ@amaﬂimaﬁﬁ?ﬁwﬁ%uﬁém
FARE S 7
(A) FEG TR (B) UG T
(C) ‘AT TR (D) TR
ﬁuﬁ%ﬁﬁﬁmmmémﬁ“m
Hga”aqﬁm‘g&%m%?
(A) 3 FaaEl
(B) AT TARHAE
(C) THI
(D) e a7,
o et TS a1 Fel ° HEl
=t ¢
(A) fegh - Teah
(B) Fea -
©) fegt -
(D) feght -
TR 7118 TR © @I TRl T T
(A) Tyt (B) feum
(C) TeIH (D) T
(ﬁx{)xi-i—(;;x})x}-{—(ﬁxll)x&
1 Yod TS
(A) 3P (B) 0
(©) 4p (D) -2p
ws FifTad s A “sun shines brightly’ El

‘ba lo sul’ & &9 § Ter@r i 2, ‘houses are
brightly lit' 1 *kado ula ari ba’ % &4 H fev
ST & 371 ‘light comes from sun’ %l “dopi
kup lonro’ %mﬁ%@w%,wﬁgm
‘sun” 3R ‘brightly’ & fore fer@ e 2 2

(A) lo, ba (B) ba,lo

(C) ba, sul (D) sul,lo
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14.

A

V\'
)
Pointing towards a girl in the lﬁzt}]l{fe, S ;mta
said “She is the mother of Neha, whose
father is my son”. How 18 Sarlt\ﬂ related to

the girl in the picture ?(B) : ﬁ i
(A) Mother \9}/;{0?6 of these

(C) Aunt !
Chandra X Ray observatory, l% a flagship-
class space telescope of which of the
following space agency ?
(A) NASA
(B). Roscosmos
(@) ISRO
(D) None of the above

16.  Which of the following satellite launch
vehicle (Rocket) of ISRO nick named as

Batigbali ?
GSLV Mk III
) Scram Jet Engine — TD

(C) RLV-TD
(D) None of the above

1) In which year did Columbus reached the
Island of West Indies ?

(A) 1520

_ 1556
(€) 1492

(D) 1498

18.  Structure of Ni(CO), is
Tetrahedral
(B) Trigonal planar
 (C) Square planar

(D) Trigonal pyramidal

19. ion is gi
”tl)';me Ampere-Maxwells equation 1s given

&) $Edar="%

—> S-JV/U?/KJ
14, TEAUH e oReeh o S ST HT Y,

dt

(B) @Bdl:ule+uoeo%
©) EfJE.dA—Q_
&
P $ BdA=0"

15.

16.

17.

18.

19.

LU L

e g Y Bt 8, oy R R
TR | Teeh! ¥ Kl Tettd & 9ita 9
(A) T (B) == Wi
(C) =m=h (D) T8

51w  duwmen, Frafafa 4 @
ey Toielt =t Tk TAmTTRg Aol 6t gy
(A) NASA

(B) Roscosmos

(C) ISRO

(D) I ¥ | IS T

ISRO % 398 Y& I (Tahe) H 4 fF
YA STgEe § ¢ .
(A) GSLV MKk III

(B) U S 3SH - TD

(C) RLV-TD

(D) I # ¥ IS T »

forg ad iciow aEeEES €19 d Tga
(A) 1520 (B) 1556

(C) 1492 (D) 1498

Ni(CO), ! ST §

(A)
(B) FAyTeRR THA
(C) & GHad

(D) T frfirgrem

e e e s e
27

_ —dog
(A) ¢ Edl=—F

it dog
(B) 4} B:dl = Hole + Ko € -d_tE
_Q
(C) 95 EdA = s
D) $BdA=0

Scanned by CamScanner‘




TR
A OO

20.- What is the mechanical energy E of the
[ Jinear oscillator ? Given initially, the

L}

" Block’s position is x = 11 cm, speed is

" v =0 and spring constanyk = 65 Nm-'.
(A) 0.791] }..0:111]
'7 - (C) 0.661.. (D) ,\0.39‘,]
/ ;M
é}z 9me C# or Visual Basic compiler converts

n

/Y\ your code into a special language named
G MISL (B) MMSL
(C) MSSL (D) MSIL

-
22. In a certain code language, ‘pen pencil’_is
'_______,c__——-—f
written as/${’, ‘eWr’ is written
as ‘@# and ‘pencil eraser’ is written as
’, then what i ‘pen’ ?
@@ hat is the code for ‘pen’

(A) @ (B)
© # (D) $

Choose the word which is least like other

worgs in the group.’

) Tomato"  «H) Ginger

) Carrot (). Potato
24.  Complete the series.
1,387, 13,21, 1
= % f- |
31 (B) 33
(C) 27 (D) 29

25. 1f Ais a3 x 3 non singular matrix and
Al=3 th \(ZA)_l] =
(A 7 \@/2_{4'

(©) ..15 (D) None of these
1

N P
oV RS A\ The” "?‘

512019 (1) (gy,

20. g Afer =i E TR ? ey

21.

22,

23.

24,

25,

ﬁwaﬁﬁvxﬁx:ucm%,nﬁruom
Tt fOrT® k = 65 Nm-' 2 |

(A) 0.79] (B) 0.11]

(C) 0.661] (D) 0.39]

C# a1 T AT FIAISER 3T Fe i
e forgie s o wfafda s 2

FEaTdl 3l

(A) MISL (B) MMSL

(C) MSSL (D) MSIL

e fafeea gfgan 4, ‘pen pencil’ i ‘$? &
9 3 Gl 3 for@n ST 8, “eraser sharpener’
F ‘@# & Tq H forar wmar § AR ‘pencil
eraser’ &l ‘$@’ % ®9 § for@r Smar 7,
‘pcn’%%‘{iﬁgWW% ?

A) @ (B) ?
©) # (D) $

FreafRrfias & & we sz gfie st e %
YIea1 & ged 1 Fear @ |

(A) T (B) e

(©) TR (D) 3
et quf s |

1,3,7,13,21,?

(A) 31 (B) 33

© 27 (D) 29

AR ATH3 x 3 g (nonsingular) 37Tegg &
AR |A|=3, 7 l2A)!| =

1
@ < ®) 5r

ili (D) 0.9 HIg A&l
H

©
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52019 (1) (E1) | v, o ity F ‘T 2, T:'-
26. 1f ‘Orange’ is called ‘BUtEry B“,“eﬁ I RN TS sl
called ‘Soap’, ‘Soap’ 18 called ‘Ink 1‘; y =S ‘e # TR el ST 7 2,
is called ‘Honey’ and Honey is calle FE A S L sraid, ﬁﬂ‘ﬁ-{f@ﬂ:;
ed Al arufl’ el ‘
‘Orange’, which of the following is us o ¥ Bt S
for washing clothes 2.~ e S e
A) gt
(A) Soap \(9/{ ((C; T (D) wFET
(C) Honey (D) Butter - o
filein |  27. COERCINNE S - /g J
27. Which functions allow us to accessqa e q’—'ﬁ’ﬁ?ﬁ - e IEX
a non-sequential or random m(?de ) write() and wntclmcs 0
(A) write() and writelines() ((B) rite() and read0
% E(E() gckreatt | (C) seek() and tell()
vl tell()‘ (D) read() and readline()
(D) read() and readline() B
28. Who was the first Chief Minister of Haryana? | 28. mm%qgég@qﬂrﬂq > A .
(4 Devilal - (A) e
(B) Bansilal (B) wHIA )
(C) Bhagwat Dayal Sharma (C) HTad E’ETR;TETITI
(D) Rao Virender Singh (D) U4 iz fas
29, Sacchar formula was introduced in which | 29. WW@@T%{‘IH&%{W T T 9 ¢
year ! B) 1949
(A) 1948 (B) 1949 | (A) 1948 (B)
(C) 1945 ‘9}‘)/ 1946 (C) 1945 (D) 1946
30. Whichofthefo]lbwing‘is/arethe government | 30. Wﬂﬁ@ﬁl%ﬁf@ﬂ%%{qeﬁwﬁm
scheme (s) for the promotion of sports in DIECIE A
Haryana ? A) e
(A) Provide training By amof
(B) Build the sports stadium (B) e x
(C) Grant for sports institutes (C) T Hem Sga &A1
DY Al of the above (D) IR EH
What is the stre

of iudeesin Puniaband | 31, e iR ahamon 359 =T & =

" W denmd?
38 (A) 48 (B) 38
(C). 68 (D) 58 (C) 68 (D) 58

32. Which of the dance is mainly performed on | 32. o Tmmw 3 shr 81 34 J&Aa: fran ST
the marriage ceremony ?

(A) T
Gugga dance — s T
Egg G;r%gor pUJadance'T (B) T e T
(C) Ghodi dance ™ (C) 9 T
( Dhamal dance (D) €HTA TA
H k
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33.

34.

3s.

s

[

In Python which data type is unordered and
mutable ? QB/

(A) Mapping B /Tuples

(C) Sets (D) Sequence

The volume of a Parallelopiped whose
co-terminal edges are the vectors
a=2i+j-3kb=i+j+2kand ¢=i-2j+3k

(A)_42 cubic units  (B) 22 cubic units

32 cubic units (D) 12 cubic units

If a current loop carrying a current [, with N
turns and area enclosed by the current is A,
then the magnetic dipole moment is given

by
I
A =NIA =
(A) m GBS }m =
N A
L (C) — — LY D =
m T . D) m T

36. Choose the pair of words that shows the

37.

same relationship as given by the pair.
Cells : Cytology : :

( Insects : Entomology

B) Tissues : Morpholog

(B) Tissues : Morphology

(©) Diseases : Physiology
(D) Worms : Ornithology
— 3

When was Seema Aayog formed to decide
#Pon separation of Punjab and Haryana ?

((2) December 1941 (B) Jgpnuary 1951

) May 1975 &)/C;:tober 1965

z::]eogata attribu[e Of_lbii,(iaﬁs_ﬂlld_lh.e
attribyte .. ;

(he Gata gy - 0 Same scope, then

will be given

38.

- ®B) higher priority
D)/ lower priority

33.

34.

35.

S

38.

(A) A (B) &Teq
() 4@ (D) ftg
Teh GHMTGE gt o1 ST 1 2T g

g AT TohTl 3 o 39t a=2i + - 3,
b=i+j+2kMNC=i-2j+3k 27

(A) 42FFAFHRAl  (B) 229 hisal
(C) 32VASHEAl (D) 1291 soEal

afe weh forga amr <, fogd 1+ NgE @
o ST & 371 forga gru e fRrn mn & A R,
o geehia Tyt i forese gra STt B 7

(A) m=NIA (B) Ll

. NA

N A
C — D [ —
(©) m T (D) m ~

9% vI58 W g it g e gm gro qwie T
Gey o femm § |
aﬁﬁm:ﬁﬁimﬁﬁm::

(A) 12 : Fefagm

(B) Sdeh : MHffagH

(C) T : IRfagH A

(D) i : afdrfagm <.

€T TN o6 T e GO o, e UeTTe 3K

,,Eﬂqwn@amaﬂﬁmﬁvh%mww?
(A) TREsR 1941

(B) SHall 1951
) w1975 (D) e 1965

afk ot & e wiege ok fafu LA
TN AHATH S, ST __——
! feu s
(A) P (B) 3= T
(C) war wafEar (D)

H
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39. Who was the first Speaker of:,,‘Haryana

Legislative Assembly ? . .
) Shanno Devi

(B) Manphool Singh_
(C) Kuldeep Sharma

(D) Eshwar Singh

!

40. Choose the pair of words that shows the

‘same relationship as given by the pair.

Scalp : Hair : ,
% Earth : Grass
B) Fur:Cap .

) Home : Cattle

. j‘} Nail : Nailpolish

Jhere is the Haryana Public Service

~JCommission located ?
J(X?;Ianchkula (B) Gurugram

(C) Sonipat (D) Panipat

42.  Which one of the following is not a database
management system ?

(A) dBASE
(C) PostgreSQL

) FoxPro
(D) SAK

43. Lala Lajpat Rai actively participated in the

Swadeshi anglolan from which district ?
) Hisar

(B) Sonipat
(C) Rohtak (D) Panipat

44. On which of the following subject both
Union and State Government can make
laws ?

‘(}(9/ Concurrent list subject

“(B) Residuary subject
(C) Union list subject
(D) State list subject

39.

40.

41.

42.

43.

44,

FERERNIRTRITRIRHIREE TRTR TR NRT

RO fore T < o gt S o 7
(A) TR

(B) wigd féer

(C) Fereiia T

(D) svarfoe

I8 Y18 g T St fu e 3w g amie
ey = femma |

L LRC A | R | S

(A) q%ﬁ:trm

(B) ;e

(C) T : WY |

(D) ARG : AT

TR < Qa1 T e R g 7
(A) TEhen (B) TeIM™
() rfiud (D) T

fefafag § ¥ FH-T1 TF ST T
Ut TR ® 7
(A) dBASE
(C) PostgreSQL

(B) FoxPro
(D) SAK

TN SSTd T o Wl reeH § for
o w9 8 s ferm an ?

(A) REm (B) HiHiud

(C) Usdeh (D) UM

ffafaa § @ fora fowr @ g i T
LT A1 HT T Rl & 7

(A) G g o

(B) 3rafyrse fowa

(C) efva geh Fore

(D) m@ﬁw
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45. Which of the following space agencies
involved in BepiColombo mission, an
unmanned spacecraft carrying a two probes
into orbit of Mercury ?

(A) ISROand NASA

(B) European and Japan space agencies
(C) NASA and European space agencies
\(96 None of the above

46. Tn 1984, which of the following is Haryana’s
most famous film whose song is most
popular ?

(A) Lado
(C) Dhan Paraya

_ ) Chandrawal
(D) Lambardar

47. Beej Bachao Andolan (save the seed) was

initially started in
(A) West Bengal
(B) Uttarakhand

(C) Bihar

(Ip) Madhya Pradesh
48. In Naraul area which State ié bordered
three sides ?

njab

adhya Pradesh
Rajasthan

(D) Uttar Pradesh

A\

49. If oo means +, B means —
_ , ¥ means X,
0 means =+ thep 3( 010y50 10B201is
5 (B) 15

Cc) 3

(®) (D) 10

A non empty subget x
50. <aid O be a SubgrouijfOt‘a&MG’ *)—l‘s"

») HEG §

®) Commutative 4y,

hold in H associatiye laws
/H c Gand (H, )55, o
(D) Noné of these ] up

-1
%5 \ox5S X\®
QRS \gx \D

45

. 31 et R 3 P 4

512019 (, [‘?

) (ky
S LRI & R AL,
mﬁﬁ@"ﬁﬁﬁﬂﬁmmﬁ?ﬁ“
(A) ISRO 3T NASA 3
(B) AT TSI b v

(C) NASA 37 FUIRH siafe v

46. 1984 # BN %! T AHR Ry
Tard & ¢ -
(A) ¥R (B) ==Eel
(C) & T (D) AERER
(A) IR T
(3) ITAES S
(C) fergm
(D) WEAYSH
48. %@am%mﬁnmmﬁmm
) |
(A) U
(B) T&T W
(C) TTEAH
(D) I W
49, AR a7 +, pHT 1 - y FT 30 x, OH
I = AM30010y50 10B 2037
(A) 5 (B) 15
© 3 (D) 10
50. T EE (G, *) 1 AR I H 3, W
YR el 91T &, TS
(A) Hc G

(B) fafma ofr are=d A ot €
(€) HE G (H, ») WA
(D) ¥ & g el

H
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V=015 11) (K1) AL T
S1. Study the diagram given below to answer | 51. Fr=fefias wa = W & T g ﬁwm ‘
the following question.\p_ ; a G 1 S |

— \q\o’\b
C /o |8\ O\ 4 w":,w
7

) H.
AT
¥

_—

The triangle in the above ﬁgure depicts I HATHfd o Frentor it ﬁ.qﬁ'@mﬁ ?
women in villages, the square depicts the aqifar ® | =t SO afdenett o gt ;
unemployed women and the circle depicts v Rt wleeit ) agiaTd |
o educaisd WP T s e e T i
Educated employed women in villages are ——
ted b ' '
E;Sre;e{n il ) G (A) F . B) G
© D D) E (C) D (D) E
\\ 52. In which year Punjab high court shifted to | 52. ﬁmaﬁﬁw&ﬁmwa@ﬂaﬁw
iy Chandigarh ? % ' B 7
1957 (B) 1958 (A) 1957 (B) 1958
(C) 1955 (D) 1956 (C) 1955 (D) 1956
53. Which one of the following is true with | 53.” avg & & wemar vor o Faw & Fefefed
regard to Mahayana cult of Buddhism ? YFA-WMAAR 7
(A) They refer as greater vehicle (A) ¥ T AT F gehfawe s
(B) Worship of Buddha’s image was an o1 25 T TR
important tradition of this cult ®) g@ﬁ;ﬁaﬁt@'{gﬂw E
(C) Original followers were called lower ikl 2
vehicle ™ ’ ) (C) wfreh TR il =g Se el ST ¢
A Allthe above (D) 3 &+l

54. The district in which should have highest | 54. T foret 3 o g it e vl 31fes &
number of gram sabhas 7~

: <Ry ?
(A) Hisar B Gurugram (A) fREr (B) TeI™
(C) Karnal (D) Panipat (C) =T (D) I

55. The value of A for which the homg enchis
systemkx+y+2=0,_',(+ Uiz 0
“x=y+A=0 has non-trivial/solution-is

55. m@wmmmmm
\ AX+y+2=0,-x+Ay+2z=
—X-y+A=0TIDEAHR !

(A 3 SR () 3 ®) 0
© 3 (D) : ©) +3 (D) -3
= A i A
H A7 —
70 0 > s ‘j — //L /-'YL" “é;:_ ;
W X v oz Cx o a ~
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3 .. 52019
' 56. In database, arelation\gr;e;ns a 56. <R H, U ey o ar Mt () (gyy
(A) Tup]e Table (A) gg_j‘ =l (B) m
(C) Domain (D) Key ©) (D) H
3 7 X 3 7
57. Ifx.—§—9isarootof' 2 x 2|=0,then 57. aﬁt 2 x 2 =0W®tﬁx=~9%,
7 6 x L O &
the other two roots are =gl T ?
(A) 2,7~ B) -2,<7 (A) 2,7 (B) -2;=1
: v
‘97{ 2,7 (D) 2,-7 @ (€)' -27 (D)3, "
58. EDTAis_____ligand. s8. EDTA_____ fame T 1] %k\
(A) ,Hexadentate Q@ (A) ??ﬂ:" g+ Q. i
Tetradentate (\@Pa (B) Td: & ?A: ®
(C) Monodentate @M (C) ThadH \ 1 _/"
(D) Bidentate @ O (D) TETFH N ok@
59. In a code languagc SOLID is written as | + 59. Ueh ﬁlg‘?ﬂ gfgar ﬁ', SO.LID 58 1
WPSLPIMFHA. What does the code word WPSLPIMFHA & &4 H Hehdioh(r forat
'M&@mvmefc,m? U T R | 3T FhelteRtoT R T OTe U g
' ATEXXQIBVO # 3T ITeg ST ? -
(A) EAGER (B) WAFER (A) EAGER ®) WA
WATER (D)QWAGER (C) WATER (D) WAGER
f Lo
Which of the following plants is established [ 60. T ¥ el 8 W FREHATATE ?
holj in Panipat 7 v
ﬁ()/ll‘;\eﬁnery (B) Fertilizer (A) o (B) 37{7@"
(C) Sugar (D) Cement (©) it (D) fad=
61. Intersection of 2 subgroups of a group 61. TH G, *)®2 & ?
@yin - (A)RHC:::;T ) mﬂ@‘rmﬂa}aw%.
(A), asubgroup of G BkS
\(}3{ group but not a subgroup of G (B) Wiz AfFT G = ITqYE T8 %
(C; not a sn;bgroup of G (C) G =139z 7 &
(D) none of these ' (D) 37 A &S
. ho wrote the book A | |
6. (‘Z) airig "‘“ktamalyada" 62. T FIICAET TR ey Rt 2 ? ;‘
Pulakeshi :DE_QN (A) |z .
) Krishnadevaraya (B) geTohyit
) Chandragupta . (©) ?Wa?ﬂﬁ?

(}S Z Q9 W3 g g !\Q\ ([;):[qaf?'aq— ]QS@[
}ﬁécorrcﬂ\ﬂlfl‘( LM Ne P
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63. Ifx +9,x -6, 4 are first three elements of
GP then x is
(A)®, 0 \(}/16, 16
(C) 0,16 (D) -16/0)

64. Whichis the correct reason for the outbreak
for the situation of cold war ?

\W/ Invasion on Pearl Harbour by Japan
Emergence of USA and USSR asrival

powers
1 . (C) Defeat of Xtis force in thci‘l/_}_‘;__or]d
: War

(D) Bombing}\H'
‘ by USA/.

If x — 2, X, x + 3 are first three elements of

g —b 0

65.

66“ Haryana’s historic grand tomb is located
' in which district, which is associated with

Shekh Chilli ?
—
Q.LA’}/ Kurukshetra (B) Hansi
(C) Nunh ‘(D) Palwal
67. Who js the present CEO of PepsiCo ?

(
(B) Ramon Laguarta

Indra Nooyi

(C) Shantanu Narayen
(D) None of the above

68. By which Amendment to the Constitution the

right to property was removed from the list
of Fundamental Rights ?

(B) 74"
(D) 46"

iroshima and Nagasaki

GP then x is -~ 2
@(A) - ®) J6
?( (D) 0 L)
A

fU

A A njflm I
63. ax+9, x—6,4([0ﬁﬂTaﬂﬁ#W?ﬁ7{aa
Fdi
(A) 0,0
(C) 0,16

(B) 16,-16
(D) -16,0

64. e T o TR & eI <A1 et AW
FH-a1e 7
(A) STIH EI T gTei T ST
" (B) gﬁﬁiﬁﬁ%mﬁaﬁﬁwaﬁt
Tiferad €9 &1 IR
| (C) TR fova g8 § e o T 7R
(D) e g QR 3 T W
anmﬁ

| 965. ;Ehx %2 X, x+3zgrrh=rﬂélvﬁéam?ﬁ:raa

@ (A) -6

) ©) 6

(B); V6

(D) 0"~

66.~mmmmmﬁmﬁwm

3, e arery g Rgiay ¢
(A) Fwam (B) wrt
C) & (D) YaEw
67. W(PepsiCo)a?a?f‘qﬁ CEOHTE ?
(A) s
(B) & <mmet
(C) Wiy T
(D) 3IWEd § ¥ 1S 7
68. Wiu ¥ fore G 510 TR F sy
wifersh TR ot Tt & wer foay gy oy 2
(A) 729 (B) 743
(C) 444 (D) 464
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66 “Who won the women’s
don Championships ?

" the 2019 Wimble
) Petra Kvitova

T- (B) Vinus Wwilliams

single tennis title at

| | (C) Serend Williams
(D) Simona Halep

w pressure

\

i
J 70. Langmuir isotherms holds at 1o
[ but fails 2
(A) Low temperature
(B) Intermediate pressure
(C) High pressure
(D) None of these”

71. Chaudhary Devilal Herbal Park is situated
in the district of ‘
(A) Mewat
©) ) “Rew.ari

(B) Panipat

\(9‘5 'Yamunanagar

72. Name of the lake which is famous for
tourism in Karnal.
(A) Sultanpur lake
(C) Barkhal lake

73, Complefe the sepieen
19\4 3:3 6\\3033
D
37 '
(C) 31
74. Ifeach of tl}g l_ettersinthe English alphabet

is assichal value beginning

(B) Taliyar lake
Mama lake

(B) 39
(D) 35

= = ill be the total
value of the Jetters of the word INDIAN ?
(A) 89 96
(C) 86 (D) 88

13-

69.

70.

71.

72.

73.

74.

-

. .5/2019 (1) (El
2019%@@%ﬁaﬁqﬁﬂﬁmmiﬁ;
Rgqre fore sfian ?

(A) CARCEGIE]

) <y faferera

() S fafeam

(D) Tawr g
mmﬁwmma@ﬁa@n%
 wRwawEe

(A) a,"'qﬂ'['qm

(B) e ardl

(C) 3= qld

(D) T A HIE T
aﬁuﬁﬁaﬁgﬁaqﬁﬁaﬁﬁﬁ@ﬂ%?
(A) (B) "I

(C) w@ret (D) AR
T 1 o wder % fore witg ¥fte =
THB? .

(A) GeaE@ sl (B) Afe@R #e
(C) w=Td (D) Ul A
et o HIT |

19, 23, 26, 30, 33, ?

(A) 37 (B) 39

(C) 31 (D) 35.

.asﬁm%maq‘mﬁA=l,B:3
TR, 71eE INDIAN 3 37&

1 8 2 T G

(A) 89

(C) 86

(B) 96
(D) 88.
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English Language

:‘hoosc the correct indirect form of the
ollowing sentence from the given options :

75, He said to me “What are you reading” ?

(A) He asked me what I am readmo
(B) He asked me what I was reading
(C) He said that what am I reading
\/ He said that what was I reading

Choose the part of the following sentence
which has an error ;

76.  Neither of the(two men were very strong,.
Neither of the two
(B) Of the two men were
(C) Of the two men
(D) No error

Select one word substitute for the following :

77. ‘Gainor proﬁt over and above one’s salary

or wages’.
(A) investment \_(,Bj/ surplus
(D) turnover

(C) perquisite
Select the synonym of the word in capital :

78. ZEAL
(A) brave (B) soft
(C) increase ( enthusiasm

Fill in the blanks with suitable preposition :

79. He was here
(A) on (B) at

(©) in UM not needed

Fill in the blanks with ; appropriate word from
the options :

80. We

last week.

— by aloud noise during last

nigh
/YQ\&))‘ were wokenup (B) were waking up
( woke up (D) are woken up

81. Mr. Miller doesn’t like

- waiting.
(A) kept (B) ,is kept
(C) keep (DY being kept
You can’t stop me what I want.
to do (B) thatIdo
(C) doing (D) do

O OO O
fe=ft v

8. TwIR___ I HTEMET|
(A) wgd=H
(B) Tha=H 3R siga=q aH1 |

(C), Tsha=
O fam
84. ‘i § 3y T T Ag A
e o foTT IS 2 |
(A) HEEr= (B)

DS

85, H1:+ W =
(A) WY \.P/) B
(C) "y (D) wTY
86. e fafiau |

F) wAN (1) Fd & T
(@) ﬁv—mﬁm) ¥ &1 g

() W (3) T1eft &1 ==
(%) et 3) HOf & S
(%) == (3) T 1 S==

@H@WHW@)
(A) 3 3
(B) 3 ea ;HL 3 s‘)

M H# 33 3
@z 5 3 3§
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